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CONSTRUCTIONS

Exercise 11 1

1. Construct an angle of  at the initial point

of a given ray and justify the construction.

Watch Video Solution

90∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_cAmAINM0Q1KW


2. Construct an angle of  at the initial

point of a given ray and justify the

construction.

Watch Video Solution

45∘

3. Construct the angles of the following

measurement .

Watch Video Solution

30∘

https://dl.doubtnut.com/l/_cAmAINM0Q1KW
https://dl.doubtnut.com/l/_TVYXXFb6tb1w
https://dl.doubtnut.com/l/_1ug6vdveRzE9
https://dl.doubtnut.com/l/_0cverEK3iY7F


4. Construct the angles of the following

measurement .

Watch Video Solution

15∘

5. Construct the angles of the following

measurement .

Watch Video Solution

15∘

https://dl.doubtnut.com/l/_0cverEK3iY7F
https://dl.doubtnut.com/l/_QvzAserzIzA2


6. Using ruler and compasses, construct the

following angles and justify your construction

: 

Watch Video Solution

150∘

7. Using ruler and compasses, construct the

following angles and justify your construction

: 

Watch Video Solution

150∘

https://dl.doubtnut.com/l/_lx4bqiqw3H9k
https://dl.doubtnut.com/l/_PfskfAqxKrsB
https://dl.doubtnut.com/l/_eCNXCc1DDC1Q


Exercise 11 2

8. Using ruler and compasses, construct the

following angles and justify your construction

: 

Watch Video Solution

150∘

9. Construct an equilateral triangle, given its

side and justify the construction.

Watch Video Solution

https://dl.doubtnut.com/l/_eCNXCc1DDC1Q
https://dl.doubtnut.com/l/_K7LS6u7t1y4y


1. Construct a triangle ABC in which BC = 7cm,

 and .

Watch Video Solution

∠B = 75∘ AB + AC = 13cm

2. Construct a triangle ABC in which

,  and 

.

Watch Video Solution

BC = 8cm ∠B = 45∘

AB − AC = 3.5cm

https://dl.doubtnut.com/l/_Ej7NwE9mc1Sp
https://dl.doubtnut.com/l/_cCK8f25iJaYG


3. Construct a triangle PQR in which

angleQ = 60^@ PR - PQ = 2

cm.

Watch Video Solution

QR = 6cm, and

4. Construct a triangle XYZ in which

,  and 

.

Watch Video Solution

∠Y = 30∘ ∠Z = 90∘

XY + Y Z + ZX = 11cm

https://dl.doubtnut.com/l/_nibzFE6AqXFr
https://dl.doubtnut.com/l/_I5grE06yo12b
https://dl.doubtnut.com/l/_gwLhCEVAA9y4


5. Construct a right triangle whose base is 12

cm and sum of its hypotenuse and other side

is 18 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_gwLhCEVAA9y4

